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QUESTION 1

Select the two data formats supported by Oracle WMS Cloud with its built-in interfaces and APIs. (Choose two.)
A. JSON

B. Delimited Flat File

C. EDI

D. XML

E. pdf

Correct Answer: BD

Reference: https://docs.oracle.com/cloud/latest/owmcs_gs-cloud/OWMAP/OWMAP.pdf (6)

QUESTION 2

As an Inventory Super User, you are configuring LPNs per tier and Tiers per Pallet fields at Item Details
screen.

Which statement is true about LPNs per tier and Tiers per Pallet?

A. LPNs per tier and Tiers per Pallet are used to define number of Ob LPN per tier during shipping.

B. LPNs per tier and Tiers per Pallet are used to define number of IB LPN per tier during receiving.

C. LPNs per tier and Tier per Pallet are used to define the standard number of LPNs acceptable per pallet during
receiving.

D. LPNs per tier and Tiers per pallet are used to define the standard number of case and pack for an Item during
receiving.

Correct Answer: D

Reference: https://learn.oracle.com/ords/launchpad/learn?page=item-masterandcontext=0:44189:44200

QUESTION 3

The following configuration is set for the Advance Shipment Notification type: 10% Under Receipt Warning, 10% Over
Receipt Warning, and 20% Over Receipt error. Which two statements match the condition set if the ASN Qty is 100?
(Choose two.)

A. When the Operator receives 125 units, the RF screen displays an Over Receipt warning message.

B. When the Operator receives 101, the RF screen displays an Over receipt warning message.

C. When the Operator receives 110, the RF screen displays an Over Receipt warning message.
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D. When the Operator receives 89, the RF screen displays an Under Receipt warning message.
E. When the Operator receives 130 units, the RF screen displays an Over Receipt error message.

Correct Answer: CE

QUESTION 4

Your company\\'s count process has two levels: First, at the end of each quarter, the operators will need to get a list of
all the LPN numbers in every location via cycle count. Second, at the end of each month, the operators will do a spot
check for any 100 LPNs and count their content information, and to save time, they will scan each item only once and
enter the total quantity of the item marked on the inner package inside an LPN. Your company has reserve locations
only for storage and you\\'re doing the WMS Cloud configuration for the operators.

Which two tasks should you complete? (Choose two.)

A. Create a Cycle Cnt RF screen for the operators to use, and leave the content-count RF parameter blank.

B. Create a Resv Nbr Cnt RF screen for the operators to use.

C. Enable the Recount Location Detail cc_trigger.

D. Create a Cycle Cnt RF screen for the operators to use, and set the content-count RF parameter to By Sku Qty.

E. Create a Cycle count for LPN deferred/immediate updates RF screen for the operators to use, and set the sku-scan-
mode RF parameter to By Qty Scan.

Correct Answer: BE

QUESTION 5

Which two options are true if inventory is unallocated and unavailable? (Choose two.)
A. Inventory located in a drop zone

B. Inventory located in active location

C. Unlocked inventory located in reserve location

D. Inventory in locations with lock codes

Correct Answer: CD
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